ENGLISH PRACTICE 33
PART I: GRAMMAR
 Question 1 : Use the correct form of the verbs:( 2ms  )
1. It is no wonder Jack was convicted of speeding. The speed limit is 30 miles an hour but he did al 50.He (not drive) so fast.
2. If you (take) your doctor's advice, your health (not be) so bad now.
3. He refused (admit) that he (steal) that bicycle.
4. We suggested that medicine (advertise) on television (ban).
5. I could tell from the ( frighten) look on her face that something terrible (happen).
6. "Why didn't you invite me to go to that dance?" " Sorry. I wish I (can/invite) you to go with us . 
Your answers:
1​​​​​​​​​​​​​​​​​​​​​​​​​​______________________,2_______________ _ _______________ , 3 _______________ _ ____________

4_______________​ ​ ​​​​​​​​​​​​​​​​​​_ _____________________, 5_______________ _ _______________, 6_____________

Question 2 : Supply the missing prepositions where necessary (2ms)
Yesterday we went shopping..(1)
the morning
(2).... 10 o'clock, we felt tired, so we had some
drink in a cafe We had lunch..(3)... 12 o'clock   and..(4)
the afternoon we stayed at home. ..(5)
 the
evening we went to the cinema, and I got to bed ...(6)
 11 o'clock. After breakfast ...(7)
this morning we
hired bikes and biked round Brighton. We 're having a rest now, but ...(8)....this evening we're going ...(9).. a concert, which begins...(10).... 8.30.
Your answers:

1______________2________________3________________4__________________5_______________


6______________7________________8_________________9_________________10______________
Question 3: Fill in the spaces with A ,AN, THE or O (No articles): (2ms )
Once a famous boxer went to ...(1)... restaurant to have ..(2)... dinner. He took off his coat at...(3).. door, but he was afraid that somebody would take it. So he took out ..(4)... piece of paper and wrote on it: "This coat belongs to Tom Brown,....(5)....  most famous boxer in ..(6)..     world; He will come back in………....(7)
few minutes."   He fastened ..(8)...paper to
(9)...coat and went into...(10)....restaurant to have his dinner.

 Your answers:

1______________2________________3________________4__________________5_______________


6______________7________________8_________________9_________________10______________
Question 4 : Supply the correct form of the words in parentheses:  ( 2ms )
1. 1. This restaurant is
for its western meals.    





 (FAME)
2. Michael is a third- year
student.






 (MEDICINE)
3. That young man is
politician





 
 (PROMISE)
4. The motorist was killed
when his car crashed into a lorry.


 (INSTANT)
5. He believed in his
to jump down from the fourth story without getting hurt. 

 (ABLE).
6. In
with the rules of the competition, the team was disqualified.


(ACCORD)
7. This examination will test your
in English. 




 ( PROFICIENT)
8. " Have you seen the new ….for Mei Shampoo? I think I shall buy a bottle now", said Liz.
( DVERTISE)
9.
After many years of failure, Edison finally
in inventing the light bulb.

(SUCCESS)
10. Jim's
of the crime only made matters worse.




(DENY)
Your answers:

1______________2________________3________________4__________________5_______________


6______________7________________8_________________9_________________10______________
Question 5:      Choose a suitable word in some given words and fill in the blanks: ( 2ms) 
manages
succeed
comparison
operate
earn
individual
begins
directly
process
idea
SMALL BUSINESSES
When consumers want to buy something - food, clothes, furniture, or books - they most often go to a retail
store. Retail stores sell (1)
to the consumer. Many retail stores are small businesses. In the United
States, ninety-seven percent of the businesses are small businesses. They are an important part of the
marketing (2)
Small businesses are businesses that are small in  (3)
to large companies. These small
businesses (4)..... less than $2 million a year. They are usually owned by an (5)
or a partnership (two or
more people who own the business together). The owner very often (6)
the business, and there are not
many employees.
In the 1960s, a new (7)
for retail ownership became very popular in the United States. This was
the franchise store. The franchise store allows an individual to own and (8)
 a small business with better
chance of success. If someone (9)………..a small business such as a restaurant or a dress shop, it is sometimes difficult to…………….(10) alone
Your answers:

1______________2________________3________________4__________________5_______________


6______________7________________8_________________9_________________10______________
Question 6 : . Use the verbs and particles given to make up phrasal verbs and complete the sentences. Make
sure to put the verbs in their correct forms. (2ms)
Verbs : show, settle, stand, wait, make, run , pass, look, run, come
Particles : by, out of, away, off, over, up, on , across, out, on
1. What did Mr. Jackson tell her children ?
She told them that she   was ________________patience.
2. While looking for an English book, I_____________a novel by Charles Dickens my son liked for long.
3. Edna sometimes
a list of things to do for the whole week.
4. Helen went to the library to____________
some facts about early American history.
5.Good friends will always
you when you are in need.
6. Some women invited to wedding party always try to
their figures.
7. The waiter who________________me was very pleasant.
8. Most drivers are unhappy if they
an animal.
9. His last hours were very quiet, and he
without pain.
10.
The Jack sons have____________the terms for buying their machines.

 Your answers:

1______________2________________3________________4__________________5_______________


6______________7________________8_________________9_________________10______________
PART II: READING COMPREHENSION .
Question 1 :   Read the passage carefully and then choose the best answer from the below (lm )
Over the past 600 years, English has grown from a language of few speakers to become the dominant language of international communication. English as we know it today emerged around 1350 after having incorporated many elements of French that were introduced following the Norman invasion of 1066.
Until the 1600s, English was, for the most part, spoken only in England and hadn't extended event ,as far as Wales, Scotland or Ireland. However, during the course of the next two centuries, English began to spread around the globe as a result of exploration, trade (including slave trade), colonization, and missionary work. Thus, small enclaves of English speakers became established and grew in various parts of the world .As these communities proliferated, English gradually became the primary language of international business, banking and diplomacy.
Currently, about 80 percent of the information stored on computer systems worldwide is in English. Two thirds of the world's science writing is in English, and English is the main language of technology, advertising, media, international airports, and air traffic controllers. Today there are more than 700 million English users in the world, and over half of these are non- native speakers, constituting the largest number of non- native users than any other language in the world.
1.
What is the main topic of the passage?
A.
The number of nonnative users of English.
B.
The French influence on the English language.
C.
The expansion of English as an international language.
D.
The use of English for science and technology.
2.
Approximately when did English begin to be used beyond England.
A. In 1066

B. Around 1350

    C.   Before 1600        D. After 1600
3.
According to the passage, all of the following contributed to the spread of English around the
world except
.

A. the slave trade
B. the Norman invasion       C. missionaries.
D. colonization.
4. The word 'enclaves' in line 9 could be best replaced by which of the following? 

A. communities

B. organizations
      C. regions

D. countries
5. The world ' proliferated' in line 10 is closest in meaning to which of the following? 

A. prospered

B. organized

       C. disbanded
D.   expanded.
Your Answers : 1______________2________________3________________4_________________5_________
Question 2 :   Choose the most suitable options to complete the passage: (2ms )
A FAMOUS EXPLORER 

Captain James Cook is remembered today for being one of Britain's most famous explorers of the 18   century. Cook was distinct from most other explorers of the same period as he didn't come from to
wealthy family and had to work hard to achieve his position in life. He was lucky to be (1)
by
his father's employer, who saw that he was a bright boy and paid for him to attend the village school . At sixteen, he started work in a shop in a fishing village situated on the coast and this was a turning
(2)
in his life. He developed an interest in the sea and eventually joined the Royal Navy
(3).
to see more of the world.
Cook was (4)__
by sailing, astronomy and the production of maps, and quickly became
an expert (5)_
these subjects. He was also one of the first people to (6)
,
 that
scurvy, an illness often suffered by sailors, could be prevented by careful (7)
to diet. It was
during his (8)
to the Pacific Ocean that Cook made his historic landing in Australia and the
major discovery that New Zealand was two separate islands . He became a (9).
 hero and still(10)__________________  one today.
1.
 A. remarked 

B. viewed 

C. glanced 

D. noticed
2.
A. moment 

B. instant 

C. point 

D. mark

3.
A. in view 

B. in order 

C. as 


D. due

4.
A. keen 

B. eager 

C. fascinated 

D. enthusiastic

5.
A. from 

B. over 


C. in 


D. for

6.
A. regard
             B. estimate 

C. catch 

D. realize

7.
A. attention 

B. organization 

C. observation 

D. treatment

8.
A. travel 

B. voyage 

C. excursion 

D. tour 

9.
A. nation 

B. national 

C. international 

D. internationalism
10.
A. remains

B. to remain

C. remaining

D. had remained
Your answers:

1______________2________________3________________4__________________5_______________


6______________7________________8_________________9_________________10______________
PART III : WRITING
Question 1 : Rewrite the following sentences without changing meaning ( 2.5 ms)
1.
She first moved into that house in 1989.
( She has..

2.
He lives next door and he's really unpleasant.
(  The man....


3.
I would prefer you to deliver the sofa on Friday.
(  I would rather

4.
He was sorry he hadn't said goodbye to his wife at the airport.
(  He regretted...
……………………
5.   They haven't seen their uncle for ten years.
( It's

6" Would you like to carry the case for me". John said to Jane
(  John offered ……………………………………………………………………………
7.1am really sorry I didn't invite her to the party .
( I really wish……………………………………………………………………………..
8.1 missed the bus this morning, so I was late for the class .
( If……………………………………

9.We felt worried because of that exam.
( That exam..

10 .When I was ten , I used to go to school with my best friend
(  At the age of ten , I always………………………………………………………………..
Question 2 : Write a paragraph of about 120 words, describing the information in the  table.( 2.5ms)
ILLITERACY ERADICATION RATE IN SOME NORTHERN PROVINCES OF VIETNAM
	
	1995
	1998
	2000
	2002

	Hoa Binh
	67%
	75%
	85%
	92%

	Thai Nguyen
	65%
	69%
	80%
	85%

	Yen Bai
	60%
	65%
	70%
	90%


You may start your description with :
The  table shows  the  illiteracy eradication  rate  in  some  Northern provinces of Vietnam from 1995 to 2002.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

KEYS :
PART I:
Question 1: (0,1m x 10)
1.shouldn't have driven. 2.had taken / would be. 3.to admit / had stolen.


4. Advertising /(should) be banned.
5. Frightened / had happen. 6.could have invited.
Question 2 : (0,1m x 10 )
l.in.        2. at
3.at
6.at.        7.0
8.0

4.in 9.to

5.in
lO.at
	Question3
	: (0,lmxl0)
	
	
	

	l.a
	2.0
	3.the
	4.0
	5.a/the

	6.the.
	7.the
	8.0
	9.0
	10.0


Question 4 : (0,1 m x 10)
1.famous.
2. medical
6.accordance. 7.proficiency

3. promising
4.instantly      5.ability
8.advertisement
9.succeeded    10.denial
Question 5 : (0,1m x 10 )
	3.comparison
	4. earn
	
	5.individua

	8.operate.
	9.begins
	
	10.succeed

	3. makes out
	4. look up
	
	5. stand by

	8. run over
	9. passed a
	way
	10. settled

	2. D
	3. B
	4. A
	5. A

	3F
	4E
	5D
	6C

	4c
	5c        6d
	7a
	8 b


1.directly
2.prosess
6.manages
7.idea
Question 6 ( 0,2m x 10 )
1. run out of
2. came across
6. show oil
7. waited on
PART II :
Question 1 : (0,2m x5) 1. C
Question 2: (0,2 m x 6) 2.B
3F
4E
5D
6C
Question3: (0,1 x8) 2c     3b
4c
5c        6d        7a
8b
9b
PART III :
Questionl : (0,5m x 10 ) ( Mỗi lỗi sai trừ  0,2 (+ )
1.
She has been living/ lived in that house since 1989
2. The man who lives next door is really unpleasant.
3. I would rather you delivered the sofa on Friday.
4. He regretted having said goodbye to his wife at the airport
5. It's 10 years since they saw their uncle
6.
John offered to carry Jane's case for her.
7
.1 really wish I had invited her to the party
8
.If I hadn't missed the bus this morning ,1 wouldn't have been late for the class
9.That exam made me feel worried
10 ..At the age often ,1 always went to school with my best friend. 

Question 2 : Cac giam khao căn cứ theo tiêu chí sau:
+ nội dung 2đ
+ ngữ pháp 2đ
+ trình bày 1đ

